σen	da	Item	Nı	ımh	er
7561	lua	TIGHT	171	ши	CI.

59

DATE June 4, 2007

PUBLIC HEARING, APPROVING PLANS, SPECIFICATIONS, FORM OF CONTRACT
DOCUMENTS, AND ENGINEER'S ESTIMATE ON
2006 PEDESTRIAN CROSSING CONTROL IMPROVEMENTS;
RECEIVE AND FILE BIDS; AND DESIGNATION OF LOWEST RESPONSIVE, RESPONSIBLE
BIDDER AS BAKER ELECTRIC, INC., BRITT BAKER, CEO, \$153,900.26

WHEREAS, on May 7, 2007, under Roll Call No. 07-839, plans, specifications, form of contract documents, and Jurisdictional Engineer's estimate of construction cost were filed with the Chief Deputy City Clerk, for the construction of the following improvement:

2006 Pedestrian Crossing Control Improvements, 04-2006-012 CS-TSF-1945(717)--85-77

The improvement consists of upgrading five existing pedestrian crossing locations throughout Des Moines including the installation of pedestrian crossing signs with pushbutton-activated LED lights, a driveway relocation, installation of a pedestrian signal, and improved crosswalk markings in accordance with the contract documents including Plan File Nos. 472/110-117 at:

University Avenue east of 29th Street University Avenue at 27th Street University Avenue at 4th Street E. Grand Avenue at E. 13th Street 2200 Block of Grand Avenue

WHEREAS, notice of the hearing on the plans, specifications, form of contract documents, and Engineer's estimate of construction cost was published as required by law.

NOW, THEREFORE, BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF DES MOINES, IOWA: That the hearing on the plans, specifications, form of contract documents, and Jurisdictional Engineer's estimate of construction cost for said improvement be closed; and that said plans, specifications, form of contract documents, and Jurisdictional Engineer's estimate of construction cost are hereby approved as the plans, specifications, form of contract documents, and Jurisdictional Engineer's estimate of construction cost for said improvement.

BE IT FURTHER RESOLVED: That sealed bids for said improvement were submitted by the following bidders:

Baker Electric, Inc.

Des Moines, IA

which were received and opened at a public meeting presided over by the Jurisdictional Engineer in the City Council Chambers, 2nd Floor, City Hall, 400 Robert D. Ray Drive, Des Moines, Iowa at 11:00 a.m. on May 22, 2007. Said bids and the attached tabulation of bids for said improvement be and are hereby received and filed.

04-2006-012

59

DATE June 4, 2007

BE IT FURTHER RESOLVED: That the Jurisdictional Engineer has determined that the lowest responsive, responsible bid for the construction of said improvement was submitted by Baker Electric, Inc., Britt Baker, CEO, 111 Jackson Avenue, Des Moines, IA, 50315 in the amount of \$153,900.26, and said bid be and the same is hereby accepted.

BE IT FURTHER RESOLVED: That the bid security of the unsuccessful bidders be and is hereby authorized and directed to be returned.

BE IT FURTHER RESOLVED: That the Jurisdictional Engineer is hereby directed to secure execution by the lowest responsible, responsive Bidder and its surety of the contract documents in the form heretofore approved by this Council; that the Jurisdictional Engineer is directed to thereafter present said contract documents to this Council for approval and authorization to the Mayor to sign; and that no contract shall be deemed to exist between the City of Des Moines and said Bidder until said contract has been executed by the Bidder, and shall have been approved by this Council and executed by the Mayor and attested to by the Chief Deputy City Clerk.

(City Council Communication Number 1-354 attached.)

Moved by _______ to adopt.

FORM APPROVED: FUNDS AVAILABLE

Mathleen Vanderpool Allen McKinley
Deputy City Attorney Des Moines Finance Director

Funding Source: 2007-2008 CIP, Page Traffic-4, City-wide Neighborhood Traffic Control Program, STR131, Warious Funding, Being: \$58,570.00 in Iowa DOT Traffic Safety Funds for 100% of Divisions 1 material costs only (Max \$75,000) and \$95,330.26 in G. O. Bonds from STR131 for 100% of Division 2 work

COUNCIL ACTION	YEAS	NAYS	PASS	ABSENT
COWNIE				
COLEMAN				
HENSLEY				
KIERNAN				
MAHAFFEY				
MEYER				
VLASSIS				
TOTAL			Ī	
MOTION CARRIED			A	PPROVED

CERTIFICATE

I, JODY WITMER, Chief Deputy City Clerk of said City hereby certify that at a meeting of the City Council of said City of Des Moines, held on the above date, among other proceedings the above was adopted.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed my seal the day and year first above written.

Mayor		
•	Chief Deputy	City Clerk

ACTIVITY I.D. 04-2006-012

Page 1

DEPARTMENT OF ENGINEERING CITY OF DES MOINES, IOWA

TABULATED BY: S. Inman CHECKED BY:

CONTRACTOR'S BID TABULATION
PROJECT: 2006 PEDESTRIAN CROSSING CONTROL IMPROVEMENTS

TEM

Activity ID 04-2006-012 IDOT PROJ NO.: CS-TSF-1945(717)-85-77 APPROVED BY_

CONTRACTOR CITY

CONTRACTOR CITY

CONTRACTOR

(ED BY: J8H				CONTRACTOR		ב ט ס	CONTRACTOR	ON CO	CONTRACTOR
V RACTOR'S BID TABULATION				Baker Electric Inc. Des Moines, IA	ctric Inc. nes, IA				
:CT: 2006 PEDESTRIAN CROSSING CONTROL IMPROVEMENTS				BID SECURITY 10% Bid Bond	URITY	BID SE	BID SECURITY	BID SE	BID SECURITY
ESTIMATE				BID PRICE	RICE	BID	BID PRICE	BID	BID PRICE
		TINO	•	LINO		TINO		LINO	
DESCRIPTION	QUANTITY	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
Pedestrian Signals Materials Only	1 LS	\$18,750.00	\$18,750.00	\$18,500.00	\$18,500.00				
Blinking Pedestrian Sign Assemblies Materials Only	1 LS	\$36,900.00	\$36,900.00	\$40,070.00	\$40,070.00				
Subtotal Division 1		•	\$55,650.00		\$58,570.00				
Pedestrian Signals Installation & Labor Only	1 LS	\$18,750.00	\$18,750.00	\$16,800.00	\$16,800.00				
Blinking Pedestrian Sign Assemblies Installation & Labor Only	1 LS	\$10,100.00	\$10,100.00	\$15,000.00	\$15,000.00				
Class A Sidewalk	220 SY	\$25.00	\$5,500.00	\$29.03	\$6,386.60				
Class C Sidewalk	8 SY	\$40.00	\$320.00	\$34.83	\$278.64				
Class A Sidewlk Parallel Ramp, w/Truncated Domes	72 SY	\$80.00	\$5,760.00	\$72.00	\$5,184.00				
Sidewalk, Handicapped Ramp, w/Truncated Domes, Remove & Replace	44 SY	\$80.00	\$3,520.00	\$92.89	\$4,087.16				
18" Curb & Gutter	257 LF	\$50.00	\$12,850.00	\$34.83	\$8,951.31				
Driveway & Sidewalk Removal	1010 SY	\$15.00	\$15,150.00	\$12.77	\$12,897.70				
Topsoil	150 CY	\$15.00	\$2,250.00	\$23.22	\$3,483.00				
Sodding	10 SQ	\$40.00	\$400.00	\$69.85	\$698.50				
Traffic Control	1 LS	\$1,000.00	\$1,000.00	\$1,579.85	\$1,579.85				
Blinking Pedestrian Sign Assemblies, 2200 Grand Ave. only	1 LS	\$14,000.00	\$14,000.00	\$19,000.00	\$19,000.00				5 0 ,
Sidewalk, Handicapped Ramp, w/Truncated Domes, New	14 SY	\$80.00	\$1,120.00	\$70.25	\$983.50				,
Subtotal Division 2			\$90,720.00		\$95,330.26				
					-				
TOTAL CONSTRUCTION COST			\$146,370.00		\$153,900.26				
PERCENT OF ENGINEER'S ESTIMATE					+5.14%				
					À C				•